
8

7

6

5

4

3

2

1

15

13

11

9

14

12

10

1

1

1

1

1

1

1

1

1

1

8

8

1

8

8

SOPOR-5P-4-7692

SOPOR-5P-4-7692

SOPOR-5P-4-7692

1 SOPOR-5P-4-7692

SOPOR-5P-4-7692

7692C/JM3

7692C/JM3

7692C/JM3

ADHESI------205

TORNIAD912--391

ARNV00000000245

TORNI-I7380-493

CASQUI-----0298

TAPON--------85

SILENBTM5-046/1

Upper right support

Rear right support

Front right support

Rear left support

Front left support

Central engine spoiler

Left engine spoiler

Right engine spoiler

Stickers set

M6x30 DIN912 screw

M5x0,5 Nylon washer

M5x16 ISO 7380 Allen screw

Ø13 x Ø6,5 x8,5 arrowhead

M5 ISO 7380 Allen screw cap

M5 Silemblock

1 Person

45 min

INTERMEDIATE

ALLEN

Nº 3
Nº 4
Nº 5

ID QTY REFPART DESCRIPTION

YAMAHA MT09/MT09 SP/MT09 TRACER/TRACER900 GT

carbon lookblack colour C2967 FERJ2967 FER



10

4

10

5

Just Loosen

A

A
10

A

12

11

9

12

12
9

11

2

9

11

 M OU N T IN G  IN S T R U C T IO N S  

2

1
ASSEMBLY

ASSEMBLY

ORIGINAL PARTA

YAMAHA MT09/MT09 SP/MT09 TRACER/TRACER900 GT



12

A

A 10 8

A

A
10

6

10

11

9

12

11
9

12

1

9

11

N S

ORIGINAL PART

4

3
ASSEMBLY

ASSEMBLY

A

YAMAHA MT09/MT09 SP/MT09 TRACER/TRACER900 GT

 HAONLY FOR YAMAHA

MT09 TRACER ‘18

T R UC T IO NS   M OU N T IN G  I



12

9
11

10

10

10
10

1

3

102

7

6
ASSEMBLY

STICKERS - Left side

YAMAHA MT09/MT09 SP/MT09 TRACER/TRACER900 GT



8

7

6

5

4

3

2

1

15

13

11

9

14

12

10

1

1

1

1

1

1

1

1

1

1

8

8

1

8

8

SOPOR-5P-4-7692

SOPOR-5P-4-7692

SOPOR-5P-4-7692

1 SOPOR-5P-4-7692

SOPOR-5P-4-7692

7540C/JM3

7540C/JM3

7540C/JM3

ADHESI------205

TORNIAD912--391

ARNV00000000245

TORNI-I7380-493

CASQUI-----0298

TAPON--------85

SILENBTM5-046/1

Upper right support

Rear right support

Front right support

Rear left support

Front left support

Central engine spoiler

Left engine spoiler

Right engine spoiler

Stickers set

M6x30 DIN912 screw

M5x0,5 Nylon washer

M5x16 ISO 7380 Allen screw

Ø13 x Ø6,5 x8,5 arrowhead

M5 ISO 7380 Allen screw cap

M5 Silemblock

1 Person

45 min

INTERMEDIATE

ALLEN

Nº 3
Nº 4
Nº 5

ID QTY REFDESCRIPTION

YA M A H A M T 0 9 / M T 09  S P / M T 0 9 T R AC E R/TRACER900 GT

(whith Akrapovic exhaust)

black colour REF 7540CJ0457 FER

PART



10

4

10

5

Sólo afl ojar
Just Loosen

A

A
10

A

12

11

9

12

12
9

11

2

9

11

 MOU N TIN G  IN S T R UCTIONS 

2

1
ASSEMBLY

ASSEMBLY

ORIGINAL PARTA

(whith Akrapovic exhaust)
YAMAHA MT09/MT09 SP/MT09 TRACER/TRACER900 GT



12

A

A 10 8

A

A
10

6

10

11

9

12

11
9

12

1

9

11

M OU N T IN G  IN S T R U C T IO N S  

ORIGINAL PART

4

3
ASSEMBLY

ASSEMBLY

A

YAMAHA MT09/MT09 SP/MT09 TRACER/TRACER900 GT
(whith  Akrapovic  exhaust)

ONLY FOR YAMAHA

MT09 TRACER ‘18
ONLY FOR YAMAHA

MT09 TRACER ‘18



12

9
11

10

10

10
10

1

3

102

 M OU N T IN G  IN S T R U C T IO N S  

7

6
ASSEMBLY

STICKERS - Left side

YAMAHA MT09/MT09 SP/MT09 TRACER/TRACER900 GT
(whith  Akrapovic  exhaust)

Rely on premium motorcycle frames & body by Puig if you’re looking for quality and efficiency.

https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/frame-body.html



